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CERTIFICATE IN WATER HARVESTING AND 
MANAGEMENT (CWHM) 

Term-End Examination 
00358 

June, 2018 

ONR-003 : WATER HARVESTING, 
CONSERVATION AND UTILIZATION 

Time : 3 hours 
	 Maximum Marks : 75 

Note : (i) Attempt any five questions. 

(ii) All questions carry equal marks. 

(iii) Use of calculator is permitted. 

1. (a) What are the indigenous methods of water 
harvesting ? Explain one of them with neat 
sketch. 

(b) What is rainwater harvesting ? What are 	5 
the different types of rainwater harvesting 
systems ? 

(c) Calculate the volume of water harvested 	5 
from a building of roof area 200 m2  located 
in a region receiving rainfall of 700 mm per 
annum. Assume collection efficiency of 
75%. 

2. 	(a) Explain the basic components of roof top 	5 
rainwater harvesting system with a neat 
sketch. 

(b) What do you understand by water storage 	5 
tank ? What are the different type of water 
storage tanks ? 
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(c) Calculate the size of water storage tank for 	5 
6 persons for the period of 120 days. 
Assuming that the per capita water 
requirement is 50 liters per day. 

What are the water harvesting structures in 
North-Western Semi-arid and Arid zones ? 
Explain one of them with a neat sketch. 
Calculate the gross capacity of a pond for 
applying 5 cm depth of irrigation to 20 ha. 
area and meeting water need of 50 buffaloes 
and 50 cows for a period of 30 days. 
Assuming that per buffalo and per cow 
water requirement are 50 and 60 litres per 
day, respectively. 

5 

10 

	

4. 	(a) Define irrigation. What are the different 	5 
methods of irrigation ? 

(b) Explain Drip Irrigation System with it's 	5 
components. 

(c) What are the advantages and limitations of 	5 
sprinkler irrigation system ? 

	

5. 	(a) What is artificial recharge ground water ? 
List different artificial recharge methods 
suitable for urban areas. 	 2+3=5 

(b) Differentiate between dug well and injection 	5 
well recharge technique. 

(c) Calculate runoff amount from a bare area 	5 
of 10 ha with the rainfall of 125 mm, 
assuming runoff coefficient of 0.2. 

	

6. 	(a) What are the different types of water 	5 
storage structures ? 

(b) Differentiate between reservoirs and 	5 
percolation tanks. 
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(c) A farm has 20 cows, 15 sheeps and 20 goats 	5 
managed by 10 labourers. Compute the 
capacity of storage reservior to meet the 
water demands if per capita water 
requirement for cows, sheep, goat and 
labour are 70, 30, 5 and 5 litres per day, 
respectively for a period of 30 days. 

	

7. 	(a) Explain the role of polythene lining in 	5 
reducing the seepage losses from ponds. 

(b) What are the different consideration for 	5 
selection and construction of ponds ? 

(c) What are the different types of spillways 	5 
commonly used in water harvesting 
structures ? 

	

8. 	(a) Explain the need for efficient and innovative 	5 
water use strategies in agriculture. 

(b) Differentiate between surface and pressure 	5 
system of irrigation. 

(c) Define water use efficiency. Calculate field 	5 
water use efficiency to produce 1 kg of rice 
crop which requires 3.5 m3  of water. 
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